1 2 3 4 5 6 7 8 9 10 11 12
FIRST ANGLE PROJECTION )

| 58 60 54 ]
A WATER DRAIN PLUG o1 17 ' - 3ex 1 5otk
178 ~27 DRYSEAL WATER CONNECTION ' i
NPTE | e ,
, II!:DT | AIR DELIVERY ' ;d@; 3/87-18 DRYSEAL NPSF i ! |
xil. o™ -: — [ “ |
1 1 L [ ;I!i ) /}L_jr
l/ - LS ™)
/. \J '
+ + —
(S
J
B
DOWEL HOLE
— WATER CONNECTION . J o6. 3510 102
E% — = 3/87-18 DRYSEAL NPSF % : : E x9 DEEP
|ﬁ$, -$- 20. 05 %

| ¢ CRANKCASE INSTALLATION
28" /, CENTRE LINE | 3+0. 46

0. 25 1 HOLE TAP

M8x1. 25-6H e "\ 4o
16 DEEP

£0. , 13.08 ok _ -
I R, . 2.
7‘\/ @ | ) . . \ o \ 1 ‘5_}3

196+1.5
N
Ul
+
o
N
168

c

TIMING —©]#0. 05|B “‘~\\\\\\
MARK +0. 2 TOP g
*0. 2 M10x1. 5—6H 0.3 @3 © . L. 7 - |
6 x14 DEEP RO. 524 /) o S o | ;
$[=0.2 o~ | 5493 1 o
| =y CLAYTON - a
A ] cui| % DEWANDRE S | o \'o
D u s . Go| % _ "ENGLAND , ¢ 23\ T ] 3 \%
I - % =z =~ I . o \ . Naafer” ‘

A ° | A=Y - \ 2

27528 258 O — | — f L)~

EHAE il 14. 4 I - | \ ARG +

28|23 | 2 :

§85%35; | © o A / & ) \

5oel 8 4] * o = Ve -

To5|szs f 12.5 — rrtrr , +) ¥ o\ |

Eéé E‘aﬁ ~T I Il ] 1] * - I I 1 nr . 0 x ! ' |

HEHH N - oy I o d IR ! ™~ >= g i !

-e|2 g& il Ll t Al - +0. 9 || AL ';* Al ITH u L

i5.58 N 4 HOLES 14. 725 ,

Y M10x1. 5 37. 5 37.5 :

RS —6H THRO"’ | |gt0.48

GHER T 2 OIL DRAIN $#0. 2 =% % g =N

sSs|sgss HO 4 > ‘.

. L LES 210 - 51%0.25 Q. 4 HOLES x 20° \(i\ M8x1. 25-6H
§,3(352¢ 20. 8133 -0. 05 * o g 3 oar (x3)

£5:|E-£¢ aT o 7 THRO 1 0o %(”;'Q?\X‘\g

NEHGEE Al

Z5al88-3 2> >> S 78x=0. 2 %30?*\%@65

VR S 5 = W&

< s s 150. 5+0. 15 <5 450 ,‘%g\%?{f\

§§a =£3T ] \- L\‘5 CQ‘A“Y\S

N / A 75 Qe

by K e

E2f.382s] - DOWEL HOLE 6l ot 79

IS | 6. 3575 02° O

«28| 72858 " p . - 29— @c

HHEHT S 1.85+0. 15 ‘ x9 DEEP

You? ' b |

DETAILS OF UNDERCUT AT ‘X w7 ] 20. 05

(SCALE 5:1) % s

88, |=5¢ © B . b

551|855 NO 2 ki

s25 |£52 ~, OO 8

sgs |25 ni ¥n —

EC = i AT TN 1)

E - (de]

5 E C))< g / 1“

::E"g ggé g //___ A

£o0 [ EE e % S ~~ OIL CONNECTION ON

§E5 (g6 o t e | am v MOUNTING FLANGE

74,033, = & N 83 6| 3¢ X M10x1.5-6H x 12

2135t ' Sl b| g DEEP

HTH i~ y o

g2 25t m~ " FURTHER TECHNICAL DATA SEE L

Sgg ce? M A IDENTIFICATION No.: K SETE CDP{RIGH;GNATU—R-E— wnnco

T N o CODE FOR DOCUMENT: T seer: T0 J ORAWN

,gg-,é_g E‘E;;f'é 8 = GENERAL TOLERANCES JED 261 H _A-LEJ_S%-LR—BQREEEHECKED 159cc SINGLE CYLINDER-
E:E‘E_—‘E;gi RANGE OF NOMINAL DIMENSIONS i 172879210 Tunsue | WATER COQOLED )
TETESEES CLASS (£ mm) STANDARDIZATION p "
35355, 28 _ _ __ >5 | >80 COMPRESSOR

ghg 15 [DIVENSIONS IN MILLIMETRES] A —4 I ¥ E i mli“f e e BT, o AR ST
f.:%:3%| |[DRAWING PRODUCED ON CARDAM Jo.s[B 2" Fress e sham et 911 145 005 O 605 |1/2
«35%E.5¢ IMANUAL CHANGES PROHIBITED 4245 |= Miasesed ] ) [ R ROP L COOE ORI LACTMENT FOR____
SEgBl2Ess 1) TOLERANCE CLASS APPLIED CROSSMARKED DCA-Ha, REV. | OATE 300 . @ _Soo 884 701 €09 0 |

- ‘ Imem :-
1 2 3 4 5 6 7 8 g | 12

.D.0. 5233/ (X2/T8)

o

A . P 3

-



